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QID : 901 - Select the related word/letters/number from the given alternatives.
Wallet : Cash :: Jar : ?

Options:

1) Glass

2) Pickle

3) Cylinder

4) Tight

Correct Answer: Pickle

QID : 902 - Select the related word/letters/number from the given alternatives.

Cat : Paws :: Goat : ?

Options:

1) Hoof

2) Horns

3) Tall

4) Leather

Correct Answer: Hoof
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QID : 903 - Select the related word/letters/number from the given alternatives.
Leaf: Leaves :: ?

Options:

1) Nuclei : Nucleus

2) theses : thesis

3) Crises : Crisis

4) Focus : Foci=

Correct Answer: Focus : Foci

QID : 904 - Select the related word/letters/number from the given alternatives.
ZAYB : XCWD :: VEUF : ?

Options:
1) TSRQ

2) TGSH

3) GHIJ

4) GSHR

Correct Answer: TGSH

QID : 905 - Select the related word/letters/number from the given alternatives.

Mouse : Museums :: Worst : ?

Options:
1) Rotor

2) Sorrows

3) Row

4) Root

Correct Answer: Sorrows

QID : 906 - Select the related word/letters/number from the given alternatives.

Treason : Sonnets :: Bribes : ?
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Options:
1) Best

2) Crimson

3) Bestow

4) Sonnata

Correct Answer: Bestow

QID : 907 - Select the related word/letters/number from the given alternatives.

78:15:67:7

Options:
1) 13

2)12

3)11

4) 10

Correct Answer: 13

QID : 908 - Select the related word/letters/number from the given alternatives.

111:120::222: 7

Options:
1) 211

2) 312
3) 130
4) 231
Correct Answer: 231

QID : 909 - Select the related word/letters/number from the given alternatives.
123:444 ::431:7?
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Options:
1) 865

2) 565
3) 479

4) 361
Correct Answer: 565

QID : 910 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:

1) Radio

2) Television

3) Laptop

4) Smartphone

Correct Answer: Radio

QID : 911 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:

1) Cloak and Dagger

2) Hammer and Nail

3) Suit and Tie

4) Knife and Fork

Correct Answer: Cloak and Dagger

QID : 912 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:

1) Sword and Spear

2) Bow and Arrow

3) Sword and Shield

4) Bow and Shield

Correct Answer: Bow and Shield

QID : 913 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:
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1) DA

2) GD

3) IF

4) MO

Correct Answer: MO

QID : 914 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:
1) Consultant

2) Insulate

3) Sultry

4) Insults

Correct Answer: Insulate

QID : 915 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:
1) YBDA

2) FBAT

3) HOUY

4) PABI

Correct Answer: HOUY

QID : 916 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:
1) 666

2) 676

Downl oaded From : http://sscportal.in/ Courtesy : SSC


http://sscportal.in/
http://sscportal.in/

Downl oaded From : http://sscportal.in/

3) 558
4) 144
Correct Answer: 666

QID : 917 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:
1) 45

2) 61
3) 52
4) 43
Correct Answer: 45

QID : 918 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

Options:
1) 13, 169

2) 17, 269

3) 14, 196

4) 16, 256

Correct Answer: 17, 269

QID : 919 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

adDEGT, FbulON, BDcsTY, DFGhjK, ?

Options:
1) ZXCAsd

2) CWbTY
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3) CVBfgR

4) YHijOO

Correct Answer: ZXCAsd

QID : 920 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

Cream, Ampere, Revenge, Gene, ?

Options:
1) Beat

2) Neat
3) Seat

4) Heat

Correct Answer: Neat

QID : 921 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

ire, cowl, moans, sheath, ?

Options:
1) aground

2) splinted

3) thrashes

4) flexed

Correct Answer: aground

QID : 922 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

X, SN, I,?

Options:
HE
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2)D
3)F

4) G

Correct Answer: D

QID : 923 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

cau, dbhv, ecw, fdx, ?

Options:
1) gey

2) ofz
3) fdc

4) fgh

Correct Answer: gey

QID : 924 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

OOXXXXX, OXOXXXX, XOOXXXX, XOXOXXX, ?

Options:
1) XOXOXXX

2) OOXXXXX

3) XXOOXXX

4) OXOXXXX

Correct Answer: XXOOXXX

QID : 925 - In the given series one word/one term/one number is missing. Select the correct

alternative from the given ones that will complete the series.
7,5,2,?,-7
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Options:
1) -2

2)0

3)-1

4)3

Correct Answer: -2

QID : 926 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

-2,-1/2,1,?, 4

Options:
1) 15

2) 3.5

3)25

4)2

Correct Answer: 2.5

QID : 927 - In the given series one word/one term/one number is missing. Select the correct
alternative from the given ones that will complete the series.

29,31, 37,7, 43

Options:
1) 38

2) 40
3) 41

4) 42
Correct Answer: 41
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QID : 928 - If x <y, w > x and w < z, which of the following must be true?
lLy<w

Il.z<Xx

Options:

1) Neither | nor I

2) Only |

3) Only Il

4) Both l and 1l

Correct Answer: Neither | nor Il

QID : 929 - The weights of five boxes are 20, 40, 40, 70 & 90 kilograms. Which of the following

cannot be the total weight, in kilograms, of any combination of these boxes?

Options:
1) 190

2) 180
3) 210
4) 170

Correct Answer: 210

Books for SSC Junior Engineers Exam
QID : 930 - If the letters N, E, Y, G, S & R are numbered 1, 2, 3, 4, 5 & 6 respectively. Select that

combination of numbers so that letters arranged accordingly, form a meaningful word.

Options:
1) 5312643

2) 6425152
3) 6345321

4) 2614563
Correct Answer: 5312643
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QID : 931 - If URBANITY is coded as FIYZMRGB, then how will HOW be coded as?

Options:
1) YHN

2) NHY
3) SLD

4) TYU
Correct Answer: SLD
QID : 932 - In a certain code language, 528 means 'leaf is flat', 513 means 'glass is curved', 923

means 'flat or curved'. Find the code for 'or'.

Options:
1)9

2)8
3) 4

4)2
Correct Answer: 9
QID : 933 - In a certain code language, '+' represents X', '-' represents '+', ‘X' represents '+ and '+'

represents -'. Find out the answer to the following question.
0.002 + 8000 - 126 x 3="?

Options:

1) 58

2) -26

3) 38

4) 21

Correct Answer: 58

QID : 934 - If A % B means A is mother of B, A & B means A is sister of Band A $ B means A is
daughter of B, then what does P % Q & R $ S mean?
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Options:

1) Sis aunt of P

2) Sis sister of P

3) Sis husband of P

4) S is mother of P

Correct Answer: S is husband of P

QID : 935 - If 91#32 = 7, 83#54 = 4 then find the value of 62#96 = ?

Options:
1) 10

2)12

3) 17

4H1

Correct Answer: 1

QID : 936 - Which of the following words follows the trend of the given list?

Goodbye, Popeye, Butyne, Layman, Lychee, ?

Options:
1) Dingy

2) Lofty

3) Lying

4) Yatch

Correct Answer: Yatch

QID : 937 - Which of the following terms follows the trend of the given list?

0QO0, QOQO, 0QOQO, ?

Options:
1) 0Q0OQ0OQ

2) 0QO0QO
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3) QOQOQO

4) O0QQOO0

Correct Answer: QOQOQO

QID : 938 - The marathon route goes 6 km South from the starting point. It then turns West and goes
6 kms, then turns North and goes 6 km, finally it turns left and goes 2 km to reach the end point.
Where is the end point with reference to the start point?

Options:

1) 4 km to the West of the starting point.

2) 8 km to the West of the starting point.

3) 8 km to the East of the starting point.

4) 4 km to the East of the starting point.

Correct Answer: 8 km to the West of the starting point.

QID : 939 - Two children A and B are playing. B is standing 5 m to the North of A. B then walks 10 m
East, then turns to his right and walks 8 m. At the same time, A has walked 2 m to the west, then

has turned to his left and walked 3 m. Where is B now with respect to the position of A?

Options:

1) B is 8 m to the East of A

2) Bis 12 m to the West of A

3) Bis 12 m to the East of A

4) B is 8 m to the West of A

Correct Answer: B is 12 m to the East of A

QID : 940 - In the question two statements are given, followed by two conclusions, | and Il. You have
to consider the statements to be true even if it seems to be at variance from commonly known facts.

You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All apples are red.

Statement 2 : Some red things are fruits.

Conclusion I: Some fruits are apples.

Conclusion II: All red things are fruits.

Options:
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1) Neither | nor Il follows

2) Only conclusion | follows

3) Only conclusion Il follows

4) Either | or Il follows

Correct Answer: Neither | nor Il follows

QID : 941 - In the question a statement is given, followed by two arguments, | and Il. You have to
consider the statement to be true even if it seems to be at variance from commonly known facts. You

have to decide which of the given arguments, if any, is a strong argument.
Statement : Should children be allowed to use smartphones?

Argument | : No, Smartphones are addictive, they reduce study time and play time.
Argument Il : Yes, The future is about technology. The sooner the children learn how to use

technology the better for their and society's future.

Options:

1) if neither argument I nor Il is strong

2) if only argument Il is strong.

3) if only argument | is strong.

4) If both argument | and Il are strong

Correct Answer: If both argument | and Il are strong
QID : 942 -

Which of the following cube in the answer figure cannot be
made based on the unfolded cube in the question figure?

farafaf@a 3cav anpfa & & @l &1 ae Ru aw g apfa
¥ g °T § AT AR ST FhAT?

O .

>

Options:
1)
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Correct Answer:

QID : 943 -
Which of the following answer figure patterns can be combined
to make the question figure?
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QID : 944 - Which of the following diagrams represent the relationship between Maharashtrians,

Asians and Indians?

OptionS'

// N
VCW

\j/
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Correct Answer:

©)

QID : 945 -
In the following figure, square represents hindi speakers, triangle
represents tamil speakers, circle represents marathi speakers and
rectangle represents english speakers. Which set of letters represents
english speakers who do not speak hindi and tamil speakers who do
not speak english?

ffaf@a g & 9 R iRt v geffar @ By affer sl
F afer ¥, ged A A A T ¥ WK AT 3h smfvat
1 gATar g1avit & Sl | w@HE e AT @ geAfar & S

& 7€ e ik affe s S e A& aea?

o [tY

VAR
Options:
1)L, K M NandO
L,K,M,N 10O
2)1,N, M, Kand O
ILN,M,K10O
3)1,J,M,Kand O
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,LJ, MK O
4)1,J3,Kand O
,LJ, KO
Correct Answer: L, K, M, Nand O
QID : 946 -
Which answer figure will complete the pattern in the question figure?

e & § Sl 3R 3P o P & vfawT A [ =i

Options:
1)
\ ~
\ "\.\
\ \
\\ \)
\\ \
2)
L
N
\ \\
\‘\l \\\\
\ \
\\
3)
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Correct Answer:
N )

\

\\

QID : 947 -

From the given answer figures, select the one in which the
question figure is hidden/embedded.

& 18 o) IHfaAt H & 39 Il F gfaw Srew
wea Impia AT 2

Options:
1)

/\
\V
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e =
>

Correct Answer:

/\
AV

QID : 948 -
A piece of paper is folded and punched as shown below in
the question figures. From the given answer figures, indicate
how it will appear when opened.

T Al # @ HTaR FETS F ARZF I6H B
FA AU WA & A 98 FE Ieaw gl Sar @ e

I\ LA

Options:
1)
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4)

o\
ADY

Correct Answer:
AN
/ P
V2R

QID : 949 -
If a mirror is placed on the line MN, then which of the answer figures
is the right image of the given figure?

uﬁwmﬁMwammﬁaﬁmWﬁ#
- A guw It &1 7 wfafers geire

M————N

&

Options:
1)

A
2)
3)
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Correct Answer:

2

QID : 950 -
A word Is represented by only one set of numbers as given In any one of the alternatives, The sets of
numbersgiveninthe alternatives are represented by two classes of alphabets as shownin the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and that of Matrix-Il are
numbered from 5to 9. A letter from these matrices can be represented first by its row and next by its

column, for example ‘U’ can be represented by 30, 41 etc and 'E’' can be represented by 85, 67 etc.
Similarly, you have to identify the set for the word 'SWORD".

UF WE FAG UE WEA-WAR AR ZAn e &, Shn & fawedt & ¥ ol v A R
T §) fwedt & Bu v dEawep dant & 2 @t @ g ae § e & Re av Q)
ITeEEt ¥ B AYp- F Faws MR ofFa f dew 0 F 4 AR s Y 58 9 B A
EEY A U HER B UEA I A MR @ F varEw dwn gann o S wewar B
3ggRoT & A U @ 30, 41 R Zarr axin S W & awr € @) 85, 67 WY gary
Zefrar s wwar §) 5 @ ¥ HUH 9T # RBU = SWORD' & faw wg ) wgaEar

8l
MATRIX ~ | MATRIX - I}
IR - | Iegg -
ol xl2]8 | s|6l7]181]59
el lslZ2]v|R s |yl FImMm]| 1 |E
g | R Z LR R |7Z 6 | MIMIE|E|M
2|l p|[T]O]| Y|P 2 lLBle]l e8] Llic
3jlulPlululw 8 |E|JC|H]|H]
4140 O] 2] X 9 lclHlxkIM]|K
Options:

1) 40,31,41,68,01
2) 23,95,14,20,79
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3) 11,41,44,85,22
4) 01,34,22,10,75
Correct Answer: 01,34,22,10,75
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